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B.Sc. (CBCS) DEGREE (Special Supplementary)
EXAMINATION, APRIL 2020

Second/Fourth Semester
Botany — Allied

EMBRYOLOGY, PLANT ANATOMY, PHYSIOLOGY
AND BIOTECHNOLOGY

(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answers.

L. &D @ BIOTHs @e.
() AT TTL6L (<)) DL rTLe

@) r5Casmeyruen  (F)  CabepuGemgrruen

An orrect ovule is
(a) Anatropous (b) Amphitropous

(¢) Orthotropous (d) Camphylotropous



ererGLmevGurDd CQaagser

(S)  glermd (<) Gawiermii()
@) wfoermi (/F)  wmedliiermii ()
Endosperm cells are

(a) Diploid (b) Haploid

(c) Triploid (d) Polyploid

Caufleb engerid ereleUmn 2 6Terg) ?

(=) eréamig (<) B&mid

(@) eremLmid (FF)  epgeld @eane
In root, xylem is

(a) Exarch (b) Mesarch

(¢) Endarch (d) No xylem
sTTECsHDLIGWID eTamn Sp&sLiLI(heug)

(S1)  HEueLd (<) QuoCamegen
@) QueGar@Lid (/) ymsCamed

Cork cambium is also called as
(a) Phellem (b)  Phellogen
(c) Phelloderm (d) Epidermis

Gevewriiy Camiun@® ersanar allerd@Sng.
(&) Feurélgsen (<) 2 areyltuwirss
(@) &rGrmobd () eqaflFCarsans
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Cohesion theory explains

(a) Respiration

(b) Translocation of food

(¢) Ascent of sap

(d) Photosynthesis

SOIFLEHET HFE ALTSH LEGHUmBs G®DnHs
SLTSH UGHES @ Fuay ePOLTES CFTDTD g
@eucurm SHMPSSLILI(HILD

(=1) Feuaph LIFed (<) Ureysed

(@) e drafigse (m) 2 Mepase

The movement of solution from its higher
concentration to lower concentration through a
membrane is called

(a) Osmosis (b)  Diffusion
(¢) Imbibition (d)  Absorption

BrevL_mé Cgwsaier Hlplger srarlil@n UGS
(=) @CrmGomiermed (<) Oear Grmiermsid
(@) BOH 2L () QGarrGuimr

Which of the following as coloured portion in the
cell of Nostoc

(a) Chromoplasm (b) Centroplasm
(¢) Central body (d) Genophore
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10.

@ser 2 pusduder e Bles  WPEHWL QLSS
UGSH DI

(D) TEFD YFHanmed

(<) Bimamuiil Lrgib

(@) Cusdln CGsme

(FF) o amre|l QummLser swmilsse

The most important uses of yeast is in production of

(a) ethyl alcohol (b)  microbial protein
(¢) banking industry (d) food condiment

S auermiied LweTLOSSILOD sarssSler pH
(1) 6.8 (<) 5.8
@) 6.2 (FF) 7.3

In tissue culture, the pH of the culture medium is
adjusted to

(a) 6.8 (b) 5.8

(c) 6.2 d 7.3

urpouflu LT QuEpss  eapuld  sTarTiiu@IbD
SHLSEMET THS (PEDUNEd SEHTESETLD ?

(=) fla evemitiy () Qenggpa

(@) &0 wrHoHD (m)  Gsita) Qeliga
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11.

12.

Difficulties which come across in conventional
breeding can be overcome by a technique called

(a) tissue culture (b) fission
(c) mutation (d) selection

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(<) ewsCrmavduryrepdlugdler jemwiiamu  LHD

T(PGIS.
Write about the structure of
Microsporangium.
Or
(<) @melsdlened s epolienl UL euafhg
aufl.

With suitable diagram, explain the structure
of dicot embryo.

(@) @malssaans STeUTT @emibd S@HTIq 6T
o drereniolidled Smerl 1L (P SluyhIGaeT

ollaTsGs.

Explain the internal details primary
structure of monocot stem.

Or
(<) safls Sassmer LHH GNUCLPGIS.

Give a brief account on simple tissue.
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13.

14.

15.

()

Brreilt Cursdlen cuanager LHH Sm @GOl GeT
T(PGIS.
Write short notes on types of transpiration.
Or
#nGrpmb GNSE @ STGLULDT S[Hs.
Give an account of ascent of sap in plants.
BreVLT&EElen 2 L qeanliend afleur.
Describe the structure of Nostoc.
Or
mravl GlFealler enLienLl 6leaTsEs.

Explain the cell structure of yeast.

CumigQur’Lerél @Msg Fm GHILL eT(pss.
Write a brief note on ‘totipotency’.
Or

Sa cuerLiLlebr Crrésid HmILD
W&IWSHUSMS F(H&HENS elleul.

Briefly explain the scope and importance of

tissue culture.
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16.

17.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

(1)

(=)

et G s SHasseflar cumssmer HEHs
LLBI& @6 6lemd@s.

Explain about the types of endosperm with
suitable sketches.

Or

WIS G elgeussler AMLLMLS &S
ULSGIL 6 ellens@s.

Explain the structure of a mature rule with
suitable diagram.

Qo dsdow sreoy sarger psd Bl
Sienwliemuls updl GOILIL SHs.

Give an account on primary structure of
dicot stem.

Or

@@ disflaw wopd @@ odsdos sreur
Cauflerm 2_ararenrians Uil B GCeumiLihds)s.

Compare and contract the anatomy of
monocot and dicot root.
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18.

19.

20.

()

(=)

@l dfleowwber Qewd mILusSSHamar LD
S (HedT cUanTs.

Write an essay on mechanism of dark
reaction.

Or
eafleflener penLCumId mILGSHlenar elleul.
Describe the mechanism of light reaction.
prevLmds Guyeredld 2 Husd QFuiyd pevpenw
afeurl.

Write on mass cultivation of Nostoc.

Or
mevl Quflwerelley 2 Hugd Qb wpepperws
Sleul.

Discuss in detail about the mass production
of yeast.

g auermigled LB erib.eTe lyeumbisenar
uHdl eT(pss.

Write about the M.S. medium used in tissue
culture.

Or
g Syem aueTiiiy pepperw 6lleTé@Hs.

Explain the method of callus culture.
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